
gl2400_parts_1.doc Sheet 1 of 2 
 

IN

+6

EXT

OO

+6

+6

+6

GRP

OO

GRP

1

OO

GRP

OO

4
GRP

3

2

+6

+6

+6

+6

MUTE

OO

L

OO

R

OO

LEVEL

OO

AFL

0
A

+10

1
AUX

OO

=

RL

SIG
0

+6
PK!

TO LR

PAN

GRP1

MUTE

AFL

AFL

REV

11MM 20KK POT AI8003

11MM 20KK POT AI8003

RED-BLACK FADER KNOB AJ8079
100MM 10KD FADER AI8117 

14MM 10KACx2 C/D POT AI8008

LATCHING SWITCH AL0162

LATCHING SWITCH AL0162

LATCHING SWITCH AL0162

LATCHING SWITCH AL0162

LATCHING SWITCH AL0162

LATCHING SWITCH AL5316

LATCHING SWITCH AL0162

GL2400 Surface Parts 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

PRE

AUX

AUX

4

3

AUX

AUX
2

1

OO +6

POST

OO +6

OO +6

OO +6

-15

LF
-15

+15

+15

180

45

LM
35Hz

70

-15

400

1k

250

+15

3k

HM

700

500Hz

-15

1k

6k

15k

4k

+15

HF

GAIN
20

0

50

40

+48V

30

O

PRE
POST

OO +6

EQ IN

-15

LF
-15

LM
-15

HM
-15

+15

+15

+15

+15

HF

6

GAIN
20

60

50

40
30

+48V

-5

O

-10

-20

5

O

10

16

0

ODD

BAL

L
EVEN

R

=

6-14 4060

-5

O

-10

-20

5

O

10

16

0

LINE
(PAD)

12k

80Hz

12k

80Hz

2k5

250Hz

HPF
100Hz

ODD

PAN

L
EVEN

R

=

6
AUX

AUX
5

MUTE

+6OO

PRE
POST

OO +6

EQ IN

POLARITY

PRE

AUX

AUX

4

3

AUX

AUX
2

1

OO +6

POST

OO +6

OO +6

OO +6

6
AUX

AUX
5

MUTE

+6O

ST2

LR

STEREO

MIC

LR

ST1

STEREO
CH15

CH15

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

14MM 10KACx2 C/D POT AI8008 

BLUE-BLACK FADER KNOB AJ8081 
100MM 10KDX2 FADER AI8118 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL5316 

11MM 10K SPCL POT AI3838 

14MM 20KK X2 POT AI8007 

14MM 20KBx2 C/D POT AI8006 

11MM 20KK POT AI8003 

11MM 20KK POT AI8003 

YELLOW LED AE0084 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL5316 

14MM 20KK X2 POT AI8007 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

9MM POT NUT AB8050 

GREY-RED KNOB AJ2074A 
11MM 10K SPCL POT AI3838 

GREY-L/BLUE KNOB AJ2076A 
11MM 20KB C/D POT AI8004 

GREY-GREEN KNOB AJ2077A 
11MM 200KCx2 POT AI8005 

11MM 20KB C/D POT AI8004 

11MM 200KCx2 POT AI8005 

11MM 20KB C/D POT AI8004 

GREY-GREY KNOB AJ2078A 
11MM 20KK POT AI8003 

11MM 20KK POT AI8003 

GREY-BLUE KNOB AJ2075A  
11MM 20KK POT AI8003 

GREY-YELLOW KNOB AJ2079A 
11MM 20KK POT AI8003 

GREY-BROWN KNOB AJ2080A 
14MM 10KACx2 C/D POT AI8008 

11MM 20KK POT AI8003 

11MM 20KB C/D POT AI8004 

11MM 20KK POT AI8003 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

RED TOMBSTONE LED AE4863 
WHITE PUSH BUTTON AJ2962 

LATCHING SWITCH AL0162 

ROUND GREY PUSH BUTTON AJ3955 
LATCHING SWITCH AL0162 

GREY PUSH BUTTON AJ2864 
LATCHING SWITCH AL0162 

RED PUSH BUTTON AJ2961 
LATCHING SWITCH AL0162 

BLACK-WHITE FADER KNOB AJ3503 
100MM 10KD FADER AI8117 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

WHITE PUSH BUTTON AJ2960 
LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

M3x4 SCREW AB2811 

MODE

AFL POWER

0

+10

6
0

AUX
5

AUX

OO+10OO

(AUX FED SUB)

AFL

MONO (L+R)
AUX 6

LISTEN WEDGE

SIG
0

+6
PK!

SIG
0

+6
PK!

SIG
0

+6
PK!

FOH
MONITOR

MIC

1kHz
PINK

5-6
AUX

3-4
AUX

1-2
AUX

1-4

SELECT

PHONES

+10

2TRK

R

TO LR

2TRK REPLAY

MAXMIN

OOMAX

L

MIN

ON

TALKBACK

OSC/NOISE

+9
+6
+3

0
-3

-12
-16

-30
-20

-9
-6

2TRK
L-R

10

L-R

GRP

0TALK

PFL

MONITOR

+16

SOURCEM

MUTE

AFL

MUTE

AFL

AFL

REV

AFL

REV

GREEN TOMBSTONE LED AE4864 
LATCHING SWITCH AL0162 

LATCHING SWITCH AL8065

12WAY LED BAR AE5474 

1/4’’ JACK SOCKET +NUT AL5903

YELLOW-BLACK FADER KNOB AJ8080 
100MM 10KD FADER AI8117 

RED LED AE0086 

14MM 20KK X2 POT AI8007

14MM 20KK X2 POT AI8007

LATCHING SWITCH AL0162

LATCHING SWITCH AL0162

100MM 10KD FADER AI8117 

3PIN FEMALE XLR AL2412 

BLUE LED AE4041 

LATCHING SWITCH AL8065

LATCHING SWITCH AL0162

11MM 5KRD POT AI8111 

11MM 5KRD POT AI8111 

11MM 20KK POT AI8003 

BLACK PUSH BUTTON AJ3228 
MOMENTARY SWITCH AL0374 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL0162 

LATCHING SWITCH AL5316 

LATCHING SWITCH AL8065 
LATCHING SWITCH AL0162 

LATCHING SWITCH AL5316 

YELLOW LED AE0084 



gl2400_parts_1.doc Sheet 2 of 2 
 

13

LINE IN

MIC IN

14

LINE IN

MIC INMIC IN

24

LINE IN

DIRECT

INSERT

OUT
24

24

DIRECT

INSERT

OUT
23

23

DIRECT

INSERT

OUT
21

21

DIRECT

INSERT

OUT
20

20

DIRECT

INSERT

OUT
19

19

DIRECT

INSERT

OUT
18

18

DIRECT

INSERT

OUT
22

22

DIRECT

INSERT

OUT
17

17

LAMP

OUT M OUT R OUT L GRP 4 GRP 3 GRP 2 GRP 1

WARNING:  TO REDUCE THE RISK OF ELECTRIC SHOCK
DO NOT EXPOSE THIS APPARATUS TO RAIN OR MOISTURE.

AVIS: RISQUE DE CHOC ELECTRIQUE - NE PAS OUVRIR.

THIS APPARATUS MUST BE EARTHED BY THE POWER CORD.

ATTENTION:  REMPLACER LE FUSIBLE AVEC UN DES MEMES CARACTERISTIQUES.
CAUTION:   FOR CONTINUED PROTECTION AGAINST RISK OF FIRE REPLACE FUSE WITH SAME TYPE AND RATING.

T1.6A L 250V 20MM

ON/OFF

RISK OF ELECTRIC SHOCK
DO NOT OPEN

CAUTION
I FUSE

MAINS INPUT

100 - 240 V AC  ~  47- 63 Hz   90W MAX

0

ENGINEERED IN ENGLAND BY ALLEN & HEATH LIMITED

SERIAL NUMBER

EXT DC IN

EXT INT

ACTIVE POWER SUPPLY
USE ONLY THE RECOMMENDED A&H BACKUP POWER SUPPLY

- IN

+IN

3

INPUT

2 1

RING -INRING
TIP  +INTIP

LINE

MIC
TIP

RING

SEND

RETURN

INSERT

SYS-LINK II CONSOLE EXPANDER  ( option )

OUTPUT INPUT

LINE INLINE IN

DIRECT

INSERT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
DIRECT

OUT
14

INSERT

13

INSERT

12

INSERT

11

INSERT

10

INSERT

9

INSERT

8

INSERT

7

INSERT

6

INSERT

5

INSERT

4

INSERT

3

INSERT

2

INSERT

1

14 13 12 11 10 9 8 7 6 5 4 3 2 1

1

LINE IN

2

LINE IN

3

LINE IN

4

LINE IN

5

LINE IN

6

LINE IN

7

LINE IN

8

LINE IN

9

LINE IN

10

LINE IN

11

LINE IN

12

LINE IN

MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN MIC IN

LINE INLINE INLINE INLINE INLINE INLINE INLINE INLINE INLINE INLINE INLINE INLINE IN

MIC IN

23

LINE IN

MIC IN

21

LINE IN

MIC IN

20

LINE IN

MIC IN

19

LINE IN

MIC IN

18

LINE IN

MIC IN

22

LINE IN

MIC IN

17

LINE IN

MIC OUT

ST4 ST3 ST2 ST1

R

L/M

1516

MIC OUT

R

L/M

R

L/M

R

L/M

MIC INMIC IN

1516
(BREAKPOINT)

3
MTX

EXT

4
MTX

EXT

2
MTX

EXT

1
MTX

EXT

R
INSERT

L
INSERT

4
INSERT

3
INSERT

2
INSERT

1
INSERT

6
AUX

5
AUX

4
AUX

3
AUX

2
AUX

1
AUX

IN IN IN IN

MATRIX

MONITOR

L/MR

LR
2TRK OUT

2TRK IN

LROUT
LAMP

LISTEN WEDGE AUX 6 AUX 5 AUX 4 AUX 3 AUX 2 AUX 1

R L GRP 4 GRP 3 GRP 2 GRP 1
GRP/AUX REVERSE

IN1
IN2

IN3
IN4

MATRIX EXT IN

34 2 1

FAST FEET AK0102 

4PIN FEMALE XLR AL8104 

GL2400 Surface Parts 
 

(GL2400-424 shown) 

5WAY PLUG AL5686 

3PIN FEMALE XLR AL2410

JACK SOCKET SWITCHED AL3410

JACK SOCKET UNSWITCHED AL3407

4x5/16 SCREW AB2810

JACK SOCKET SWITCHED AL3410

3PIN MALE XLR AL2413 

JACK SOCKET SWITCHED AL3410JACK SOCKET UNSWITCHED AL3407 

MAINS IEC AL3458 FUSE HOLDER AL3178 
1.6A FUSE AL0466 

GREEN LED AE0085

GL2400ALLEN&HEATH

ALLEN & HEATH POWER SUPPLY

SERIAL NUMBER

USE ONLY THE RECOMMENDED

DC POWER IN
(BACKUP)B

DC POWER IN

A

GL2400 - 440 (without 
internal supply): 

10WAY PLUG AL8100 

M4x20 SCREW AB4717 

BLANKING PLATE AA4659
(CONSOLE SHOWN WITH 

SYS-LINK OPTION FITTED)BLACK BUTTON AJ2887
MAINS SWITCH AL3338

M3x6 SCREW AB0215 


